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Question Number : 1 Question Id : 39226615561 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer regarding Gnanapith awards

a. Viswanatha Satyanarayan got this award for his book
Ramayana Kalpa Vruksham in 1970

b. Ravuri Bharadwaja got this award for his book Pakudurallu
in 2012,

C. C. Narayana Reddy got this award for his book Karpoora

Vasantha Rayalu in 1998
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Question Number : 2 Question Id : 39226615562 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name of the temporary Mini-Moon asteroid that rotated
around Earth’s orbit in a horse shoe shapped path from
29.08.2024 to 25.11.2024 1s
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Question Number : 3 Question Id : 39226615563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find the odd one regarding old and new names

1. [ran - Persia
2 Kochi - Cochin
3 Sri Lanka - Ceylon
4. Siam - Myanmar
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Question Number : 4 Question Id : 39226615564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer related to the declaration of years by
the UN

a. 2025 - International year of Glaciers preservation
b. 2024 - International year of Camelids

C. 2023 - International year of Millets
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Question Number : 5 Question Id : 39226615565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Hydroponics 1s method of growing plants in

1. under shade
2 11 nursery
3. nutrient rich water
4. for flowers
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Question Number : 6 Question Id : 39226615566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Traming academies -
Locations

i, INS Dronacharya a. Mumbai

il INS Hamla b. Coimbatore
iii.  INS Valsura C: Kochi-II

iv.  INS Agrani d. Jamnagar
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Options :
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Question Number : 7 Question Id : 39226615567 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding colour rings and continents
in the Olympic symbol

a. Africa - Black
b. America - Green
C. Asia - Yellow
d. Australia - Red

€. Europe - Blue
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Question Number : 8 Question Id : 39226615568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the true statements
a. First Indian woman to win Booker prize is - Arundhati Roy
b. First Indian woman to get Jnanpith award - Sarojini Naidu
c. First Indian woman to get Sahitya Academy Award - Amrita Preetam
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Question Number : 9 Question Id : 39226615569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
Runner-up in 2025 Australian Open Women Series 1s
1 Keys Maddison
2. Elena Rybakina

Aryna Sabalenka

T4l

4. Jessica Pegula
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Question Number : 10 Question Id : 39226615570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Amount allotted to “Khelo India” Scheme in 2025-26 Budget
n crores
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Question Number : 11 Question Id : 39226615571 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The first state to implement common civil code in India is
1. Madhvya Pradesh
55 Uttarakhand
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PEBTHOS” &30)8 FBR B wiben DY) 'O 0RO
| GG

8 &Sopo&E
3 SoRTedss
4. 2E0E
E5)
Options :
1. %1
2.2
3. %3

4. % 4



Question Number : 12 Question Id : 39226615572 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Another name of the disease ‘Ascending in Paralysis’ that
created chaos around Pune recently

1. Campylobacter jejuni

2. Molecular mimicry mechanism
3. Amnesia

4. Guillain barre syndrome
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Question Number : 13 Question Id : 39226615573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The state that is going to provide 161 services through
"WhatsApp administration” for the first time in the country is

L.
2

Td

4

Tamul Nadu
Andhra Pradesh
Goa

Kamataka
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Question Number : 14 Question Id : 39226615574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Source Code — My Beginnings’, book is written by

L. Sundar Pichai
Z. Satya Nadella
3. Bill Gates

4. Melinda Gates
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Question Number : 15 Question Id : 39226615575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The famous doctor who was awarded Padmavibhushan.
Padmabhusan. Padma Sri. B.C. Rai etc... is

1. Kakarla Subbarao
2z Nori Dattatreyudu
L.V. Prasad
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4. Duvvuri Nageswar Reddy
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Question Number : 16 Question Id : 39226615576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This temple got UNESCO Asia Pacific award for Cultural
Heritage Conservation - 2024

1. Konark temple

2 Abathsahayeswarar temple
3. Ramappa temple
4. Hoyasala temple
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Question Shuffling Allowed : Yes



Question Number : 17 Question Id : 39226615577 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Ancient Education System

i.  Buddhist Education a. Sravanam. Mananam. Nidhi Dhyasanam
ii.  Muslim Education  b. Ashtanga Margam

iii. Gurukul Education c¢. Tri Ratnas

iv. Jain Education d. Qutub
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Question Number : 18 Question Id : 39226615578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per Right to Information Act — 2005, exemption for
disclosure of information is possible. when

1. The mformation is related to Chief Minister’s Office

7.8 The mformation is related to APPSC

3. The information 1s related to Revenue Department
4. The information that may affect the security of the
Country
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Question Number : 19 Question Id : 39226615579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following are relevant to NPEGEL
1) This 1s meant for the girls of 6-14 years
1) This 1s meant for providing vocational training for girls
ii1)  This 1s started in areas where girl child literacy is low
iv)  This 1is a part of RMSA
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Question Number : 20 Question Id : 39226615580 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Andaru chadavali — Andaru yedagali” (Education for All)
slogan 1s related to
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Question Number : 21 Question Id : 39226615581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This Article of Indian Constitution forbids discrimination on
grounds of religion, race, caste. gender or place of birth
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Question Number : 22 Question Id : 39226615582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“I think therefore I am”. - said by

1. Immanuel Kant

2. John Stuart Mill

3 Descartes

4. Sarvepalli Radha Krishna
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Question Number : 23 Question Id : 39226615583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT a FLN developmental goal with
respect of learner

1. Indigenous Knowledge
2. Health and Wellbeing

Effective Comumunicators
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Question Number : 24 Question Id : 39226615584 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Teaching learning process proposed by NCF — 2005 1s

1. Social Constructivism
2. Progressivism

3 Humanism

4. Inclusivism
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Question Number : 25 Question Id : 39226615585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per Mehran, “Readiness to respond externally to social
situations™ 1s called

1. Interest
2. Habit

3. Attitude
4. Value
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Question Number : 26 Question Id : 39226615586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

These are considered as ‘Trainable Mentally Retarded”

i Mild Mental Retarded

2. Moderate Mental Retarded

29 Severe Mental Retarded

4, Profound Mental Retarded
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Question Number : 27 Question Id : 39226615587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This theory indicates that ‘Children can learn violent
behaviour through Internet’

L. Classical conditioning theory
2. Social learning theory

3 Insightful leamning theory

4. Cognitive learning theory
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Question Number : 28 Question Id : 39226615588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Most appropriate way to develop ‘Achievement Motivation’
among children

1. Providing proper learning environment.
2. Teaching through child centered methods

Setting goals as per the abilities of the children
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Teaching as per the needs of the children
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Question Number : 29 Question Id : 39226615589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the wrong matched defense mechanism

1. Displacement - Change his goal

2. Regression - Reversion to earlier stage

5 Fantasy - Refusing unpleasant aspects

4. Projection - Make others responsible for his failures
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Question Number : 30 Question Id : 39226615590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Omne of the following is NOT related to Chomsky’s language
development perspective

1. Universal language faculty

2. Learning a language through imitation

Tad

Languages acquisition device

4. Innate ability to learn languages
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Question Number : 31 Question Id : 39226615591 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT the component of Goleman’s
Emotional Intelligence

1. Self-awareness
2 Sympathy
Social Skills

Tad

4. Self-motivation
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Question Number : 32 Question Id : 39226615592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose correct answer regarding theory and psychologist
a. Type Theories - Hippocrates, Sheldon. Spranger
b. Trait Theories - Allport. Cattell. Eysenck
c. Structure Theories - Freud. Vygotsky. Erikson
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Question Number : 33 Question Id : 39226615593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student 1s writing Intermediate Exam. She is writing
answers to the questions in own words by understanding the
concept. This type of memory is called as

L Short term memory
2 Rote memory

3. Logical memory

+ Sensory memory
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Question Number : 34 Question Id : 39226615594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In ‘Proximodistal development’. development proceeds from
1. Center of body to Periphery
2. Head to Toe

Tad

Specific to General
Simple to Complex
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Question Number : 35 Question Id : 39226615595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Sensory development 1s more at this stage of development

§ Pre childhood

2 Infancy

3. Neo natal stage

4, Late childhood
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Question Number : 36 Question Id : 39226615596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student 1s not copying in the exams with the fear of getting
debarred. The stage of Kohlberg's Moral development in the
student 1s

1 Obedience and Punishment orientation
2. Self-interest orientation

Authority and Social order maintaining orientation

fad

4. Social Contract orientation

Gy,
gA
Cn
3
G
q
E.lm
%
el
&
O
64
£

2.8 doegd ‘Lo’ PSS 5800
So)6 P8Y Is0 (9580 & AT S

L DD - 8 I9gs 0B

2. Xrm HOSTR - KIS0 HoSR SHE 08
3. R0 - IRy (KD JgIres SHE 08
4. SGERS SrSSTopen (PEdrgdoson
SITOOBRES 3 D

Options :

1.1

2. %2

3.%3

4. % 4



Question Number : 37 Question Id : 39226615597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Some children are expressing their views fluently in elocution
competition. The intelligence in them is

k. Naturalistic Intelligence

P

Linguistic Intelligence

b3

f

Interpersonal Intelligence

e

Spatial Intelligence
S5t dyen SKN FOS® eSYHOT SI oD F T
SgE0 DI, T SOA &) g

; 2 O (g
=
2, 20020568 g
3 B’at‘:’}:’:gti Eﬁ@;s @g
4. (O3 g
Options :
1. %1
2.¥2
3.%3

4. % 4



Question Number : 38 Question Id : 39226615598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT related to psychomotor domain

1. Imitation
2. Articulation
X Manipulation

4. Response
308 FAS” $sdE SoTs ) Korrdd TosID

1. 2 Ivbl=telar)
2 éﬁDtﬁra
3. PR TR0

4. @@@oaﬂs
Options :
1. %1
2. %2
3.%3
4. v 4



Question Number : 39 Question Id : 39226615599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

A student is unable to perform well in his/her studies due to
low intelligence. Hindrance here 1s

1. Physical hindrance

2. Mental hindrance

b

Physical environmental hindrance

4. Social environmental hindrance

2.5 Dong0 (Bg B I G0ES0 Jg SEHPHS” o30Sy
= 5

P5508° &%) ee0¥o

1. FOEY estro¥o

2
3 3" AYE HOVY esoko
4 TPoE DEVY eser0¥o
Options :
1. ¥ 1
2.¥2
3.8 3
4. % 4



Question Number : 40 Question Id : 39226615600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘CAVD’ test developed by E.L. Thorndike is used to measure
1. Mental Abilities

2 Specific Abilities

3. Acquired Abilities

4. Physical Abilities

EL o8¢5 $cirth Bds ‘CAVD’ 58 s5od50 T,

1 NUATRL %‘“;&m;éw

2 o Joi 30 g0

3 Sfeld o3 Tged

4 FTOEE D SoTrgen
Options :
1. %1
2. %2
3.%3
4. % 4

Section 4

Section Id : 392266506
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266556

Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 39226615601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
o0 By 0 ST K800 (308 FIS” HBBoN.

e, ©R300even - EFr0oHed

& _ 2 < o
es, senib|Bo 2O o]
3. EB(Q00AS I0ND0G - S50
Bs.  SETFRB0 - DY RaH HoHed
L. &3, 3, B3
Z @, &3,
3. o, 3, &2
4. @, e3, B3
Options :
1. %]
2.2
3.%3

4. % 4



Question Number : 42 Question Id : 39226615602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SR’ FE50S° S SHosove 550 DD ESTH
DEFS HoSETR, B &I IV T

1 DES8
L4
2 é}“g&u“
3 NN
4 z;?i’:mciﬁ::;
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 43 Question Id : 39226615603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
208 BS” SEHPWN EEN0S® &) roren

1. HB5ES, & S

2. 5B, T S5
& ed
3. SrdirEo®, (@a|EIS
4. S, T ST
Options :
1. %1
2.¥2
3.%3

4. % 4



Question Number : 44 Question Id : 39226615604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Ao HATHOD D, DAGTR) VoMb (E5008”
SPASrSor ocabienEo S ATy (DaEe0
1. WES5L0 - TPODED
2. D3E0 - &8’ DOD S0
3. ?onsdﬁstﬁ':b”ﬁ
4. lat-plole!

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 45 Question Id : 39226615605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘65?.3;3'3.::’ Bord @go

1, 8550
p 89
3. DO
4. Desons
Options :
1. ¥ 1
2. %)
3.% 3

4.9 4



Question Number : 46 Question Id : 39226615606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

23omad A00&D oSl - e qgsﬁo}gﬁmﬂjﬁlj 280

1: NBYe 1 Te IRt
2 S0 mEyEeE
3. NSEesoLTalR
4. 502768

Options :

1. %1

2.% 2

3. %3

4. % 4

Question Number : 47 Question Id : 39226615607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

03 DO wo5” JHo' Lz IEgHW

Ik NV
2. FEHES
3 B0
4 (HIoasoo
Options :
1.¥1
2. %2
3.%3

4. % 4



Question Number : 48 Question Id : 39226615608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
BT w0’ B3 Sered’ - Ba mﬁgoé’ﬁﬁ
QP O0H0k.

L S8, Do, 9N

_ﬂj_ﬂ‘ —"

2. P53, $)Basrdys, &xdcirdY
3. PENrIFS, 9208, ALY
4. |PEITINS, SQINE, HoSWI3
Options :
1. %1
2.9
3.%3
4. % 4

Question Number : 49 Question Id : 39226615609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

308 IS YD V0B ¥02080D HEBoS

! 83 + LEen = BT Edoen
2. o0& + Thodw = Sod& Mo
3. OF + &J)F0 = BT HE0
4. QD + 0PE0 = TXPGBo
Options :
1.¥1
2. %2
3. %3

4. % 4



Question Number : 50 Question Id : 39226615610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SO0y’ TR0 B3 HOFO Mo ([Irode&08.

L 9o

2. a0

T

3. ST

4, 5@?@&55"@3
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 51 Question Id : 39226615611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
VEeP RSB B3 HE0S° BITHOo

;2 &DSeEaa:s:n SR

2 @J@oﬁr SSENHR
3. [ ebe:a.un]c‘.‘bo:,
4. %0350 SR
Options :
1.v1
2. %)
3. %3

4. % 4



Question Number : 52 Question Id : 39226615612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

e3R8y - &aoéga}m;@j EOAS JoriEore Hedo

1. o R0
2. 2 Reao
3. Y Keo

4. ‘o’ ReRo
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 53 Question Id : 39226615613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

"DRWe0 FoaTje B TreddIon” B3 ;:ns:’éoée

&N io
1. e e

2. QJJEF"SEJJ
3. G“'E:oe‘_ﬁaa'gom
4, N1

Options :

1. %1

2. %)

3.%3
4.9 4



Question Number : 54 Question Id : 39226615614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

©TPNO0 SEHOTUD Ev.;tgr%'se:é“);‘jo ©® ded
Bz HES z=Hodnod.

L DSBS FED
e e 2

2. JITPWE PYab
G o a3
3. TR FYW
4. &aiﬂ@ﬁag T
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 55 Question Id : 39226615615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

—

B3 &ar SYO HEWROST HESST 38

i ﬁ‘m‘a’ggﬁ T°EQO

2z, TATEE FEo
TEE T
3. 'ﬁjbeb;séﬁ FEco
o =
4, BOLIIEYE TEGO
m o
Options :
1. %1
2. %)
3. %3

4. ¥ 4



Question Number : 56 Question Id : 39226615616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

208 S ¥BTSH

9, (Godio esm XORFPTO @ Pﬂgo

es, Lci:@oe:é;iw@_ﬁ HDoTEew Lg.iae:é @Eg@?w

3. k@ﬁ:é@ﬁg@ﬁﬁmw ) Feren Sden
e ar . B /5.;; i o
Lo D, JD)0R Dorew Sven
B o, 3, &2
2, ©, 3, 83
3. es, g, 53
4, e, &3, J
Options :
1. %1
2. %2
3.%3
4.4
Sub-Section Number : 2
Sub-Section Id : 392266557

Question Shuffling Allowed : Yes



Question Number : 57 Question Id : 39226615617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
RO H0§ DEFSE0, IO DITrTen &BETA0BE”
508 B: SPxrew
1. AN
2 AL St aren
3. $08°E%o
4. HPHELSE

Options :
1. %1
2.9¥2
3.%3
4. % 4

Question Number : 58 Question Id : 39226615618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“505008°D 2PSHBoRE D voren D SEEEGS A0S 02
SOOT T, & I, TSV LN’ SHTD.

1. oo P

2.  $5%88

3. AR 3By . SR
4, orowolE ;‘35&

Options :
1. #1
2. %2
3.%3
4. v 4



Question Number : 59 Question Id : 39226615619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
FEO (FBoP0S” SrSHEO J.E &) T
S BES FP DB)FHEIS e ergacd T (PN

1. &5 é@ﬁﬁmo

> ;ﬁm@'ﬁéoﬁﬁo
T
3. RarEo
4. H e s b ST ot o
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 60 Question Id : 39226615620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Argen EIOEE’ & DS HoR KHYowEo
o30. 30 B3 S\

3&3@)9‘.&5 e:g—?f_;vso

2. Kﬁoéﬁge‘_ﬁ @550
3 RPNy ::-1:550
4. 3N odeo E}géﬂ

Options :

1. %1

2.¥2

3.% 3

4. % 4



Question Number : 61 Question Id : 39226615621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
SPPESES (PT0PNS 9IS SER
1. 235 SERS

2 435 SERE
3. 35 SERY
4, 535 SRS

Options :

1. #1

2. %2

3.3

4. % 4

Question Number : 62 Question Id : 39226615622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

©DB0 30DT oF§en, FTe HEFouHdRes
&0Ge0" 8 Ba OO

j 4 ;}'“5‘;:159‘_5
2. DKDHIHS
3. 2 B REs
4. (DEredEes
Options :
1. %1
2. %2
3.%3

4. ¥ 4



Question Number : 63 Question Id : 39226615623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

TR Do B Sred. Foss DooRSSTE.
HOERNOB SWY égo S0stor” ON0.

i &ES@
o @5@;&
3. 35S

4. 3586 255

Options :
1. %1
2. %2
3.¥3
4. % 4



Question Number : 64 Question Id : 39226615624 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

T DEB2 ¥020800 208 TAS° BB TSegeo
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1 e, e3, B3
2 es, 3, 53
3 ®, 3, 83
4 ©, &,

Options :

1. %1

2. %2

3.%3

4.9 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 5

392266507
5

Online
Mandatory
24

24

12

0

1
392266558
Yes



Question Number : 65 Question Id : 39226615625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
He plays tennis.
Choose the negative form of the sentence given above.
1. He did not play tennis.
2. He does not play tennis.
3. He do not plays tennis.
4. He does not plays tenmnis.
Options :
1. %1
2.2

3.%3
4. % 4

Question Number : 66 Question Id : 39226615626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

They enjoy hiking in the mountains.

Choose the question form of the sentence given above.

1. They enjoy hiking in the mountains?

2, Are they enjoy hiking in the mountains?

Tad

Do they enjoy hiking in the mountains?

4. Will they enjoy hiking in the mountains?

Options :
1. %1

2. %2
3.¢3
4. % 4



Question Number : 67 Question Id : 39226615627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the adjective that has no superlative degree.

1 good
2. bad
3. evil
4. extreme
Options :
1. %1
2. %2
3. %3
4. 4

Question Number : 68 Question Id : 39226615628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the abstract noun of “stupid’

[a—

stupidful

2. stupidity

3 stupidition
4. stupidance
Options :
1. %1
2.¥2
3. %3

4, % 4



Question Number : 69 Question Id : 39226615629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The admiral (play) bowls when he received news of
the invasion. He insisted on finishing the game.

Choose the option that fits the blank.

1. has played
2. was playing
1. would play
4. 1s playing

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 70 Question Id : 39226615630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

A: Have you paid the bill?

B: Yes. I it while you were away.

Choose the option that fits the blank.

i paid
2, was paying
3. have not paid
4. have been
Options :
1.¥1
2. %2
3. %3

4. % 4



Question Number : 71 Question Id : 39226615631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

We should never  ethical values.
Choose the option that fits the blank

1. deviate in

2. deviate with

deviate from

a2

4. deviate by
Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 72 Question Id : 39226615632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

We walked into the theatre.

In the above sentence ‘into’ indicates:

1 purpose
2 reason
3. method
4. direction

Options :

1. %1

2. %2

3. %3

4. 4



Question Number : 73 Question Id : 39226615633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following word type typically has stress on the second
syllable in English

1. Nouns and Adjectives
2. Verbs
3. Adverbs
4. Pronouns
Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 74 Question Id : 39226615634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the syllabic division of the word “unbelievable’
1 un — be — licava — ble

2: un—b—¢ —live — able

unbe — lieva — ble

Tad

4. un — be — lie — va - ble

Options :
1. %1
2. %2
3.%3
4. v 4



Question Number : 75 Question Id : 39226615635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I have hour and half for lunch.

Choose the correct set of articles that fit the respective blanks

I a. a
2. an. the
3. an. a
4. a. an
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 76 Question Id : 39226615636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

poet in me raised his voice against injustice.

Choose the article that fits the blank.

1. The
2. A
3. An
4. No article 1s needed
Options :
1.v 1
2. %9
3. %3

4. % 4



Question Number : 77 Question Id : 39226615637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The Banyan Tree” by Ruskin Bond is a
L, Poem

2. Story

3. Drama

4. Essay

Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 78 Question Id : 39226615638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Once upon a Time™ 1s a satirical poem on the modern way of
greeting someone was written by

1. Gabriel Okara

2 R.K. Narayan

3. Ruskin Bond

4, Robert Frost

Options :
1.¥1
2. %2
3.%3
4. % 4



Question Number : 79 Question Id : 39226615639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify a recommended step in starting the writing process of
an autobiography:

. Jump straight into writing without reflection.

2. Outline the story without considering significant events.

b

Reflect on life experiences and lessons learned.

4. Begin with a detailed account of achievements.

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 80 Question Id : 39226615640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
One of the following is not a characteristic of a good editorial
unbiased approach

1
2. Reconciling contradictory views

(sl

Critical analvsis

4. Biased approach

Options :

1. #1

2. %2

3.%3

4. v 4

Sub-Section Number : 2

Sub-Section Id : 392266559
Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 39226615641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the incorrect statement about the importance of
textbooks in self study.

1. Textbooks provide additional examples and exercises.

b2

Textbooks encourage self-confidence

Thd

Textbooks hinder students from revising lessons

independently
4. Textbooks help students match their answers with

solutions.

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 82 Question Id : 39226615642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the primary purpose of the English language
L. To create cultural barriers

2. To facilitate international communication

(sl

To exclude non-English speakers.
4. To limit language diversity

Options :
1. %1
2.2
3.%3
4. % 4



Question Number : 83 Question Id : 39226615643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The affective domain deals with

1. Thinking
2 Kinesthetic
i Logical
4. Emotions
Options :
1. % 1
2. %2
3. %3
4. 4

Question Number : 84 Question Id : 39226615644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The primary purpose of audio — visual aids is to engage:
1. Taste and smell

2. Touch and hearing

sl

Hearing and seeing

4. Seeing and taste

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 85 Question Id : 39226615645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the incorrect technique for developing speaking skills
in English.

1. Engaging in interactive techniques
2. Encouraging the use of mother tongue.
3. Exposing students to speaking models
4. Creating an authentic practice environment.
Options :
1% 1
2.¥2
3. %3
4. % 4

Question Number : 86 Question Id : 39226615646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This 1s not the purpose of teaching grammar

1. To improve productive skills

4 To inculcate effective communication

b

To memorize granunar rules.

4. To avoid ambiguity in expression

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 87 Question Id : 39226615647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the incorrect statement about illustrating with
examples:

¥ Mlustrating with examples cannot make concepts
relatable to students

2 Examples act as evidence to support concepts.

sl

[ustrations with examples are powerful teaching tools

4. Mlustrating with examples stimulates thinking and
emotions.

Options :
1. v 1
2. %2
3.%3
4. % 4

Question Number : 88 Question Id : 39226615648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the technique that mvolves rewriting sentences in a
way that maintains the original meaning but uses different
words:.

1. Transformation of Sentences
2 Paraphrasing
3. Syntax
4. Skimming
Options :
1. %1
2.2
3. %3
4, % 4

Section 6



Section Id : 392266508

Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266560
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 39226615649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference between place values of two *7’s in the number
764723 is

764723 e9:55 m%@s DO 7’ © ‘?.3;55 IO $Gg 2350

1. 699300
2 0
3, 69300
4. 700700
Options :
1.¥ 1
2. %2
3.%3

4. % 4



Question Number : 90 Question Id : 39226615650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The least number that 1s to be subtracted from 7123 so as to
get a perfect square

BOY°Y 5o SIS 7123 508 RIS 503 P0Rg

)

1. 102
2. 67
3 {3
4, 123

Options :

1. %1

2.¥2

3.%3

4, % 4

Question Number : 91 Question Id : 39226615651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Suppose 4 kg of sugar contains 1.8x10’ crystals. then the
number of sugar crystals in 1.4 kg of sugar is

4 3y S5, 88" 1.8x10"5)835°e0 08 1.4 &y ST 58" Ko
‘SJCJ&ES“&: ‘a’:oa}é

1. 6.3x10°
2. 6.3x10’
3. 2.52x10°
4, 2.52x10’
Options :
1. ¥ 1
2. %9
3.% 3

4. % 4



Question Number : 92 Question Id : 39226615652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The marked price on a bag 1s ¥ 750. If the discount 1s 20%
then the selling price 1s

28 gD (DESE Jo T 750. Hidosn 20% @0 ey

eﬁméﬁﬁ.@ SIS

1 <600
2. <650
3. < 500
4. s

Options :

1.1

2. %2

3.%3

4. % 4



Question Number : 93 Question Id : 39226615653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the polyhedrons from the following
1. cube 1. tetrahedron
iii.  cylinder iv.  cone

208 FAS° 2TvY Hokswen KBoEHw.

1 HodEw 11. 5@3&&@
111. “”;ogt.’::o I\ {eENIN)!
1. 1. 11
2. 11, 111
3. 11, 1V
4. 1. 11, 1V

Options :

1.¥1

2. %2

3.%3

4. % 4



Question Number : 94 Question Id : 39226615654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The angles in a quadrilateral are in the ratio 3 : 4 : 3 : 4. The
quadrilateral is

L Rectangle

2. Square

3 Parallelogram
4, Trapezium

2.5 SEE0S™ Seren 3 1 4 13 14 IRBS” Gamow.
es 5&3&3&0 2,8

L B8 Sapo
ol
p. il Slelisle
s NaTr0ess ::Se:éx‘baje&o
4. P00 5@&35}32&0
Options :
1. %1
2. %2
3.93

4. % 4



Question Number : 95 Question Id : 39226615655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

If the difference of two supplementary angles is 18°. then
smallest angle among them 1s

Boc SogrEs Sere Paan 18° wanys S8S° D)5°00
1. 101°

2. 99°

3. 89°

4.  81°

Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 96 Question Id : 39226615656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sum of interior angles of a convex polygon with ‘n’ sides is

‘N’ 2ozren KOAS Hr0275Y euihd Bk oS e 3080
1. (2n—2)x 90°

£ (2n—2)x 180°

(n—2)x90°

Lad

4. (n—2)x180°

Options :
1. %1
2. %2
3.%3
4. v 4



Question Number : 97 Question Id : 39226615657 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

-2

T

Options :

1. %1
2,92
3.%83
4, % 4

+2-2 0%
4

: MCQ Option Shuffling : No



Question Number : 98 Question Id : 39226615658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If (125)* = (3125)"*" then the relation between x and y is

(125" = 3125V ®00d x 358650 Ve 5:@5 Slelnlelnle
1. 3x —5y=3
2 Sx—-3y=5
¥ Ix—35y=35
4, Sx—3y=3
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 99 Question Id : 39226615659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

16.9 — 0.169
0.0338 X

If then the value of x 1s

16.9 0.169 = -
= 90088 X €L

0.0338  «x
1. 0.00169
2z 0.000169
4 0.000338
4. 0.00338

Options :

1. %1

2. %)

3.%3

4. % 4



Question Number : 100 Question Id : 39226615660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1?'.:1‘ . : :
If . of the first of the three consecutive odd numbers 1s 2

th

1 ; .
more than = of the third number, then the second number is

; - 1 . ) ;
Bty SN BH ‘@Da:‘ﬁsenéﬁ 058 ﬁospgé’s ?25 350683, SaTmeis

]. e r P
::ma:géﬁxj ~% S0 537) 2 A e300 BDOES oS

1. 25
2 2
3. 21
4. 23

Options :

1. ¥ 1

2. %2

3.%3

4.9 4



Question Number : 101 Question Id : 39226615661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the pie chart. the sector angle that represents 40% of its total
value is

5165 Da® DS508°, Iueo JensS® 40% &5) @0F505

R0 DD =0

1. 40°
2. 144°
R 150°
4, 155°

Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 102 Question Id : 39226615662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The leap year from the following century years is

(208 ¥es ‘530;5@:5‘35"&}56 &% RO O ha?

1. 1700
2. 1800
3. 1900
4. 2000

Options :

1. %1

2. %2

3.%3

4. ¢ 4



Question Number : 103 Question Id : 39226615663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A circle of radius 2.1 cm is cut out from a square piece of an
aluminium sheet of side 5 cm, then the percentage of the area
of the left over aluminium sheet is

5 0.0, 20z0 Ko SE8RPsEY ©eg A0 58 0l
2.1 20.0.08 FE0 Ko J)E0 KBBOSHEID. ©an

WADS 25 S0k T TS0

8 48.56%
2. 4456%
X, 44.36%
4. 46.36%

Options :

1. %1

2.¥2

3.%3

4. % 4



Question Number : 104 Question Id : 39226615664 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Three cubes each with side 2.5 c¢m are joined to form a cuboid.

4 ]
then the lateral surface area in cin”

BO2H20 2.5 0.20. Ko $o5E DHDHTODH §E0D

28 B 3050 KPS, TR (PESo JFeg0 SiR0.0. 08

i’ 112.
2 100
3 75
4. 50

Options :

1. ¥ 1

2. %2

3.%3

4. v 4

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

2
392266561
Yes



Question Number : 105 Question Id : 39226615665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The English word Mathematics is derived from this language

3 French
2. English
3. Greek
4. Egypt
5:&@‘?:3&3% 909 SORDGE0 Be G"A W0& IO
L [36s
2. 3012500
[ )

3. %
4, éaaﬁ‘;fg;

Options :

1. %1

2. %2

3.3

4. % 4



Question Number : 106 Question Id : 39226615666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The book ‘Leelavathi Ganitam’ was written by
1. Araybhatta
2. Bhaskaracharya
3. Brahmaguptha
4. Varahamihira
DS Kedesn’ PREDD (TS T
1. SSieal
2 epﬁ&ma‘*iﬁg
3. (eos5e &mg
4 Nlo4 L HbrLle!
Options :
1. %1
2.¥2

3.%3
4. % 4



Question Number : 107 Question Id : 39226615667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This method proceeds from unknown to known
L. Analysis

2. Synthesis

3. Inductive

4. Deductive

SPO0FHD o0& BEoFID FY I DS

1. ﬁﬁo:m
2. foogm:fa
3. e300
4, DT a0ed

Options :

1.1

2. %)

3.% 3

4. % 4



Question Number : 108 Question Id : 39226615668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The teaching aid used by the teacher to teach the topic
‘Time’ 1s
L. Pegboard
2. Blackboard

Flash cards

4. Working models

‘TOT50" 690 T T50T) AN ATO RIS &I ETg050EE

EDEA0S) SEITHES00

fad

i RS
Ca
= DI
a2
I_-_!_...n
3. TS c‘.ingéem

4, HITCS0 Fxorraren
Options :
1. % 1
2. %2
3. %3
4. ¥ 4



Question Number : 109 Question Id : 39226615669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Slow learners in Mathematics can be given this co-curricular
responsibility

1. Submitting articles to the school magazine

2. Collect objects from the environment

2 Conducting quiz competitions

4, Collect information about great mathematicians

Ke3S08° 08 eargdtoo &3 HIParys K)Sereiss

L PEFO SFHESKH TRrom H300)0ie

2. DX H0E SRPHOH DEBOIHL

3. &8 Fdeo S Irosow

4. D) Ae3S TQzpo HB0Y DITTEEND RWESOSE
Options :

1. %1
2.2

3. %3
4. % 4



Question Number : 110 Question Id : 39226615670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The principles of curriculum construction in Mathematics
a. Community centeredness
b. Disciplinary value
c. Spiral approach
d. Utilitarian value
3 (308 AS° X3S K050 Jomyes ¥or(@en

a. K’::LS:P&EO@S@S
b. Eﬁa%’gm e
. ﬁ&ge: ¥ oy B
d. (@DBresrd ¥ Jewd
1 a.b.d
2. a.c.d
3. a b.c
4. a. C

Options :

1.¥ 1

2. %2

3. %3

4. % 4



Question Number : 111 Question Id : 39226615671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mathematical concepts that can be developed through
Cuisenaire rods

a. Comparing numbers

b. Solve addition, subtraction

& Solve large multiplications easily

d. Concept of small and large numbers

L‘oﬂéﬁﬁmg x::eéaa O 0" DOFPOROBHE KE3S riTen

¥ ﬁoa:ga:aﬁ:: ilﬁewJea

b. Vo¥eSsw, 55;55@5.;5;; Ddne
C "'o:cg Mosrdkuesds @O¥m ndood

LT

d. &E{a ‘ﬁoané 208a8%0 E‘ag ﬁoa}PS 2055

1. a.b.d
Z. a. C
3. b€
4. g ¢ d
Options :
1.¥1
2. %2
3. %3

4. % 4



Question Number : 112 Question Id : 39226615672 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

When a test 1s administered on students multiple times. the
students scored same marks. This characteristic is called

L. Reliability
2. Validity

Objectivity

s

o

Practicability

i

=

.5

[
i)

g5
24
e
&
(e

e 3] ra
24
o
Car
.

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Voo g & LA &) OKro

2,¥ DEAS) 9k ;’.’:Dﬁgciﬁ:;éﬁmm Smsdéa}ﬁa ﬁ)cﬁﬁﬁaﬂre&m

Section 7

392266509
7

Online
Mandatory
24

24

12

0

1
392266562
Yes



Question Number : 113 Question Id : 39226615673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The human activities that are NOT allowed 1 wild life
sanctuaries

A, Grazing of live stock

B. Collecting medicinal plants
C. Poaching of animals

B Collecting fire wood

ST E3 ©2Icirtergos” enRBoBE SrSSsUiserare

A DYoo DoHe
B. TG 0¥ 0% DEBOE
C. ZOdOHo JeEoed
D. 58e EDOTIE
; A
2. C
3. A
4, B.D
Options :
1. ¥ 1
2.9 )
3. %3

4. % 4



Question Number : 114 Question Id : 39226615674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the chemicals used to test the presence of proteins.

1. Sodium Sulphate. Baking soda

2 Copper Sulphate, Caustic soda

Tsd

Magnesium Sulphate, Baking soda

4. Ammonium Sulphate, Caustic soda

P &2 HEZ0BENE EBBTAOD EFEHT K KgoS0d
. Féao méq)ﬁ 2B30A e

2. =26 98)S, =5 e

3. fyhabo x&)E, B30k Fe

4. &3r)dabo :&635, =8 ¥

Options :
1. %1
2.9¥2
3.%3
4. % 4



Question Number : 115 Question Id : 39226615675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Find the muismatched one.
1. Starting of carbohydrate digestion - mouth

2. Starting of protein digestion - stomach

L |

Starting of fat digestion - oesophagous

4, Completion of digestion - small intestine
DO mEsH MHYoBoG.

3 208 vorore BYEckh (FBoo - S
& b ]

2. Srod¥ye AY3ch (oo - ATEH0
3. (EYe BY3cH (FToF0 - &TETT
4.  BYESH JrosEEo - DY) (P

Options :

1. %1

2. %2

3.¥3

4. % 4



Question Number : 116 Question Id : 39226615676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A. Nemathelminthes I;
B. Annelida 1I.
C. Arthropoda 1.
D. Cnidaria IV.
2SR EI0E.
A Do 200 éﬂﬁ.’}ﬁ
B. «l3dz II
C. &s@iﬁm 111.
D. JEdaH AL
1. AL B=IV.C=LD <1
o A-IILB-M.C-IV.D-1
3. A-TM.B-IV.C-II,D-1
4. Al B=TC=1IL D=IV

Options :

1. %1

2. %2

3.¢3

4. % 4

Gastrovascular cavity
Open type of circulation

Pseudocoelom

Closed type of circulation

nlole] @’}}ﬁtﬁm ¥3s5e80
3};33@_6 O (Dd5e
DFg Clolejsorestete)

DOJNS GE@H0Te



Question Number : 117 Question Id : 39226615677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement about Efferent nerves.

1. They carry information from brain to body parts.
2. They carry information from body parts to brain.
3. They are also called as sensorv nerves,

i

They are mixed nerves.

VDT DT HOoOH0D VPN ITEGO KBoL0c.

L S 08 HSrorod) #arre dissveron.
2. 308 arre 5008 HIrTroR) EE SroBFerow.
3. A PN T B KGE 9oL

4. Ja) ab(Fad TGO

Options :
1. ¥ 1
2. %2
3.%3
4. % 4



Question Number : 118 Question Id : 39226615678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The ncorrect statement about Vaccine 1s

1. Our body develops antibodies in response to vaccines

2. Dead or weak microorganisms are injected

b

Vaccines are made up of chemicals

4. Vaccines protect our body from disease causing
microbes

5o $020000 B0 FT) HQ0L0E
L S5oDn BI0SIT 508 o (HATEToD
&EE)B BB

— —

2. 3P0 BT oSS SrgdPesn I3 T
3. Ocen SFcHTeSEt SIS

4.  Bren o o) FREE vrKi@Pe wod

Y3 o0.
Options :
1. %1
2. %2
3.¥3

4. % 4



Question Number : 119 Question Id : 39226615679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find the correct pair of the traditional method of 1rigation.

1. Dhekli - Drip 1rrigation

2 Sprinkler - Rahat

3. Drip irrigation - Sprinkler

4. Moat - Chain pump

TORIrci A8 FhSe DFEe VP BE™ KHBOBOS
1. S5¢50 - ﬂoai:a‘-‘l:cﬁéo

2. Qyosd - SDOSESY

3.  DomyRdsgo - 2056

4, Ao¥ e - AT DoY)

Options :
1. %1
2. %2
3.%3
4. v 4



Question Number : 120 Question Id : 39226615680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The chemical that causes Minamata disease
1 Methyl Mercury

z Methyl Iso Cyanide

Methyl Carbonate

Tsd

4. Methyl Sulphate
TR TS TBEIZN TP ANO

L 036 Jox)gd

2. 3S oFSHIE
3 W3S 5‘”6’5’5&5

4. 23S 2B)E
Options :

1. ¥1

2. %2

3.%3

4. % 4



Question Number : 121 Question Id : 39226615681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT the character of the seeds that disperse through
air

1. Spongy and fibrous seeds
2 Wings on seeds

3. Light weight

4. Hairs on seeds

—

T oo° T BOB AFTO G ©FE0 SO

1 )02 500 550 Ko Désaren

—r

2 BE) &0 Mo IGTe
3. 3Oy &okeo

4. Sow Ko JETen
Options :
1.v¥1
2. %2
3.%3
4, % 4



Question Number : 122 Question Id : 39226615682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If the angle between reflecting surface and incident ray is 30°.
then angle of reflection 1s
DOHES B00 DB DET Iero $eiiE 0 30° won

VoSS 2090 Jens

1. 30°
2 45°
3 60°
4, 55°

Options :

1. ¥ 1

2. %2

3.¥3

4. % 4

Question Number : 123 Question Id : 39226615683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Substances those are responsible for the formation of green
colour coating on copper vessel when it exposed to moist air

OoR | S DY B S’ &oDTHPE TP
SHDF) Y& NEEIE ST DI ISTTew

1. Cu.CO, 0. H,0O

2. Cu.H0.CO,. SO,

Cu. CO,. SO, O,

4. Cu. 0, H0. SO,

lsd

Options :
1.v¥1
2. %2
3.%3
4. % 4



Question Number : 124 Question Id : 39226615684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

a. Land breeze blows during 1, Dav
b. Sea breeze blows during i1 Night
C. Dark coloured clothes ii.  Summer
d. Light coloured clothes iv.  Winter
208 I WEDLS0E
a. 2550 B BFco i SKew
b. ®xn|E BISo T vxddo ii. o@
C. 0088 ok Sxdoen iii.  J0Iseo
d. 3¢ Boibd Soden iv. 3orsreo
1. a—1.b—i.c—11 d—1v
2. a—1.b—i.c—1v.d—iii
3 a—i.b—-1c—11,d-1v
4, a—i.b—1.c—1v.d—1u

Options :

1% 1

2. %2

3.%3

4.4 4



Question Number : 125 Question Id : 39226615685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT a fossil fuel

1. Coal
2. Charcoal
3. Petroleum

4, Natural gas
38 dovzm J0HS0 TP
1. PofK
N
2. EESK%
M
3. SO0
4.  DBmIE09

Options :
1. %1
2.2
3. %3
4. % 4



Question Number : 126 Question Id : 39226615686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The meaning of the words ‘poly’ and ‘mer’ in ‘Polymer’
Respectively

L. Part and many

2. Many and small

T

Many and part
4. Part and small
FODE & T 50 DS v e¥o SR
[ 2T°H0 200050 Qﬁjb_aﬁ
2 ;J’-i::b_;? NSTalerbh &&a&
5§ ;J."-.‘i:::b_c‘é INCTaTo s b UIFA L)
4 grio 0k AH
Options :
1. %1
2. %2

3.¢3
4. % 4



Question Number : 127 Question Id : 39226615687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The charge acquired by glass-rod when it 1s rubbed with silk cloth

1.

T

4.

Negative
Positive
Neutral

Cannot be determined

25 e 56 HERSROS’ HOSPD, Mz ¥6 0B e53¥0
Ca ed =] Co

L
2
3.
4

Options :
1. %1
2.2
3.%3
4, % 4
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Question Number : 128 Question Id : 39226615688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This invention led to the development of new means of
transport

i Fossil fuels

2. Conveyor belt
3. Steam Engine
4. Axle

L= < A e s ,3_ D, t,
saTPees Lates o}g@:&) &ai)mq)gu o0 &1 &ﬁgj%ﬁm

1; Jevz 0L5Te
2. ﬁﬁ*ﬁig 35
=]

3 &30 dioo(go

4. [
Options :
1. %1
2. %)
3.¢3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266563

Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226615689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Metals expand on heating’ is a

1. Process
2. Generalization
3. Hypothesis

4. Product
‘Shtoss B8 ﬁ'ﬁ:ﬂ J“SEGSQPDJJ’ e9:50058) 2%

1. ol
o
2.  DossSesm
3 L’aﬁﬁe:gﬁ
4 &5)8
Options :
1. %1
2.9¥2
3.%3

4. % 4



Question Number : 130 Question Id : 39226615690 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The item that 1s NOT taken into consideration in designing a
year plan

1. Total number of periods

2 Number of school working days

3. Number of days for examinations

4. Number of teaching strategies to be followed

TOE (DT SATLD DILVPE BOKeE'E HRETODT
©0Ted” B8

— 5 5 LT LT
1. 0050 a&m% Loy
2 e DD n Ore ﬁca:aé
o =) s

3. H0Ke KJ&SJDO?: Sero Doy

4,  @nHB0S50dS ST gt BogPg
Options :
1. %1
2. %2
3.%3

4. ¥ 4



Question Number : 131 Question Id : 39226615691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Basic electric circuits’ lesson comes under this theme
1. How things work
2 Natural phenomena

Natural resources

fed

4. Moving things
Fodaetad 36:5355 Sodiren”’ ew FTg0%0 B3 3BI)EIS

Do od.
L. 5090 I HABI0w

n
—

2. Negees iﬂq}ﬂﬁ&cﬁrw

4. 508 SoPen

Options :
1.v¥1
2. %2
3.%3
4. % 4



Question Number : 132 Question Id : 39226615692 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student wrote slogans on ‘environmental pollution’. the
academic standard achieved by him is

L Conceptual understanding

2. Making hypothesis

3 Literary skills

4, Appreciation

AR 5):5“52 “&D‘“;S;:ifﬁta E"m?&;@""ﬁ QTP TR, @955
FRONS DTG (Daie0

1. DRAAET S ITTO

2. 3B%w)Ten DaHEo

3. 2 E‘@m_go

4.  (D¥O®

Options :
1. %1
2. %2
3.%3
4. v 4



Question Number : 133 Question Id : 39226615693 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Heuristic method was introduced in teaching learning by
1. Armstrong. Parker

2 Thomos. Long

fad

Armstrong. Westway

4. Stevenson. Westway

SETGIS” &3ghes DFA (FIFDET T
1. &sgé@soﬁ. il“ﬁb_g

2. GooR, ePoh
3. 6ok, 3D
G\es e3
4. IS, IF
Options :
1. %1
2. %2
3.3

4. % 4



Question Number : 134 Question Id : 39226615694 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In a diagram drawn by a teacher to teach the parts of a
flowering plant, leaves and flowers are of same in size. The
missing element in the chart 1s

1. Symmetry

2; Clarity
3. Neatness
4. Proportion

2.8 S Ergeso PR)0B Dok e 500550 550 Ads
$008" Hlgre, PHen 28 H055°008” &Tyow.
&3 THS” §"H0DS ©0o¥0o

1. %P%), 500
2 ﬁgéﬁ,@_ﬁ
3. DS
4. 0P850
Options :
1. %1
2. %2
3.%3

4. ¢ 4



Question Number : 135 Question Id : 39226615695 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The tools being used in Andhra Pradesh in the Formative
Assessment are

1. Unit test. Anecdotal record. Experiment, Quiz

2z Written works. Group works. Experiments. Field trip.,
Slip test

3. Homework, Written works. Field trip, Slip test

4. Lab activity. Written works. Project work. Slip test
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Question Number : 136 Question Id : 39226615696 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT a process skill

1. Classification

2. Note the results
3 Logical thinking
4. Data analysis
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Options :
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Question Number : 137 Question Id : 39226615697 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

It 1s NOT a fact about Longitudes

1. Longitudes are equal in length

2 Longitudes are also known as Meridians

b

Longitudes are horizontal lines

4, Longitudes measure distance to east or west from the
Prime Meridian
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Question Number : 138 Question Id : 39226615698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In 1492. the oldest terrestrial globe was made by

1 Taqi - Al - Din

2. Martin Behaim

Taqi - Al - Abdulla

4. Martin Bernard
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Question Number : 139 Question Id : 39226615699 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Western disturbances bring rainfall during this period
1. Winter
2. Sumimer

Southwest monsoon season

Tl

4. Northeast monsoon season
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Question Number : 140 Question Id : 39226615700 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The only Mahajanapada situated in the Deccan region was

1. Avanthi
2 Asmaka
3. Chedi
4. Anga
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Question Number : 141 Question Id : 39226615701 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

During the Vijayanagara Empire. Mandalas were divided into

1. Paraganas
2 Ghatikas
3. Nadus

4. Valanadus
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Question Number : 142 Question Id : 39226615702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The tribal group “Mala Irular® belongs to this place

1. Kerala

2. Andhra Pradesh

3. Chhattisgarh

4, Karmataka
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Question Number : 143 Question Id : 39226615703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The first Indian Governor General of Independent India was

1. Lord Mountbatten

2. Maulana Azad

Sardar Vallabhbhai Patel

(4l

4. C. Rajagopalachari
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Question Number : 144 Question Id : 39226615704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the incorrect statement about Mithali Raj

1. Mithali Raj is the highest run scorer in Women's
International Cricket

2. She started training in Cricket during her school days

Mithali was selected for the Indian team at the
age of 17

Tad

4. She eamed a tagline as “Lady Dhoni”
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Question Number : 145 Question Id : 39226615705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This Amendment of the USA Constitution prohibits the
legislature from making laws ‘respecting an establishment of
religion’ or “prohibit the free exercise of religion’
i First Amendment
2. Second Amendment
3: Third Amendment
4. Fourth Amendment
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Question Number : 146 Question Id : 39226615706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The number of members to be nominated by the President to
the Rajya Sabha is
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1. 10
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Question Number : 147 Question Id : 39226615707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
This Article provides ‘equality before law’
Article - 13

2. Article - 14

[a—

3. Article - 15
4, Article - 16

BEO 00 oL IO VRGY OF) BB g&goﬁ cwesﬁéoﬁ

Il 135 esQE8es
2. 145 0058
3. 155 esQE8e?

4. 165 e9QESe

Options :
1. %1
2.2
3.%3
4. % 4



Question Number : 148 Question Id : 39226615708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

False statement related to natural gas

1. Easier to transport through pipelines

2. Exploration of new fuel reserves is easy

Cleaner than oil and coal

Tad

4. Cheaper than oil
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Question Number : 149 Question Id : 39226615709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A circular graph that is divided into parts to show proportions
in number i1s called

1. Pie chart

2 Flow chart

Tad

Bar graph
4. Line graph
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Question Number : 150 Question Id : 39226615710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The Spinning Jenny that was invented by John Kaye increased
the productivity of

1. The beautiful floral designs

2. The traditional spindles

b

The cotton product

4. The modern designs
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Question Number : 151 Question Id : 39226615711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
The tenure of Dr. Abdul Kalam as the President of India 1s
PO TRReT &aa:gcg K0 HABHS 500
. 2010-2015
2. 2007 - 2012
2002 - 2007

4. 2005 - 2010
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Options :
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Question Number : 152 Question Id : 39226615712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

India’s only active Volcano is in

1. Barren Island
2. Kerala
3. Pamban Island
4, Majuli Island
o Yol 1 h.. 2 s g Ry 1 wy =y
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Question Number : 153 Question Id : 39226615713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Respecting government, participating in government activities
comes under

1. Political value
2z National value

International value

fad

4. Creative value
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Question Number : 154 Question Id : 39226615714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Whether air. sunlight. machinery and food are free or
economic goods?’ This question is related to

L. Memory

2. Classification
24 Definition

4. Comparison
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Question Number : 155 Question Id : 39226615715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Read the following sentences and find out the correct answer.

Sentence-a: This saying “Two people thoughts are better
than one person’s thought™ 1s applicable to
discussion method.

Sentence-b: This method is suitable for college level student

only
1. Sentence-a True. sentence-b False
2. Sentence-a False. sentence-b True

Both the sentences a and b are True

(sl

4. Both the sentences a and b are False
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Question Number : 156 Question Id : 39226615716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Reading Valmiki's Ramayana and understanding the
conditions of that time is / are

A Primary Source
B. Secondary Source
4 Historical Source
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Question Number : 157 Question Id : 39226615717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per Ishwarbhai Patel Committee Report number of hours in
a week allotted for teaching History. Civics and Geography to
Classes 6. 7 and 8

Babardls HBS KW IIVY (B0 6, 7, 8 SERSHOW
S0(E, FBAY, PrATERo STROSEVE ToAE a0
D0 Kobres®

1 3
2 .
3. 4
4. 5
Options :
1. %1
2. %2
3.¥3

4. % 4



Question Number : 158 Question Id : 39226615718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
It is NOT a part in ‘Tripolar processes’
1. Teaching Learning Process

e Assessment Process

(43

Teaching Learning Material
4. Teaching Objectives
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Question Number : 159 Question Id : 39226615719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT an objective of conducting a Symposium

1. To develop critical thinking through structured
presentation on controversial topics.

2. To provide hands-on training and practical experience.

LS )

To give an opportunity for participants to questions
among themselves by observing the details.

4. To encourage in-depth expert discussion on a topic.
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Question Number : 160 Question Id : 39226615720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“There are only two fruits that bring forth the meaning in the
tree of life. The first one 1s reading good books and the second
is talking to great people™, is said by

1. Dr. Abdul Kalam

5.1 Emstein

b

Rajagopalachari

4. Jiddu Krishnamurthy
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